

$$\int_{-1}^8 \sqrt[3]{x} dx = \int_{-1}^8 x^{\frac{1}{3}} dx = \left[\frac{3}{4} x^{\frac{4}{3}} \right]_{-1}^8$$

$$= \left[\frac{3}{4} \sqrt[3]{x^4} \right]_{-1}^8 =$$

$$= \frac{3}{4} \sqrt[3]{8^4} - \frac{3}{4} \sqrt[3]{(-1)^4} =$$

$$= \frac{3}{4} \cdot 2^4 - \frac{3}{4} \cdot 1 = \frac{3}{4} \cdot (15) = \frac{45}{4}$$

11 14-17:51

$$\int_{-1}^1 \frac{x^5}{x^2+2} dx = \int_{-1}^1 \frac{t-x+2}{t} dt = \int_{-1}^1 \left(\frac{t}{t} - \frac{x}{t} + \frac{2}{t} \right) dt =$$

$$\int_{-1}^1 (1 - \frac{x}{t} + \frac{2}{t}) dt = \int_{-1}^1 (1 - \frac{x}{x^2+2} + \frac{2}{x^2+2}) dx =$$

$$\int_{-1}^1 1 dx - \int_{-1}^1 \frac{x}{x^2+2} dx + 2 \int_{-1}^1 \frac{1}{x^2+2} dx =$$

$$[x]_{-1}^1 - \frac{1}{2} \ln|x^2+2| \Big|_{-1}^1 + 2 \cdot \frac{1}{\sqrt{2}} \arctan \frac{x}{\sqrt{2}} \Big|_{-1}^1 =$$

$$= 2 - \frac{1}{2} \ln 3 + \frac{1}{\sqrt{2}} (\arctan \frac{1}{\sqrt{2}} - \arctan \frac{-1}{\sqrt{2}}) =$$

$$= 2 - \frac{1}{2} \ln 3 + \frac{1}{\sqrt{2}} \cdot 2 \arctan \frac{1}{\sqrt{2}} = 2 - \frac{1}{2} \ln 3 + \sqrt{2} \arctan \frac{1}{\sqrt{2}}$$

11 14-18:08

Partial fraction decomposition:

$$\frac{x}{x^2+1} = \frac{A}{x+a} + \frac{Bx+C}{x^2+1}$$

$$x = A(x^2+1) + (Bx+C)(x^2+1)$$

$$0 = A+B, 1 = 2B+C, 0 = A+C$$

$$A = -B, 1 = 2B+C, C = 1 - \frac{2}{3} = \frac{1}{3}$$

$$A = -\frac{1}{3}, B = \frac{1}{3}, C = \frac{1}{3}$$

$$\frac{x}{x^2+1} = \frac{-\frac{1}{3}}{x+1} + \frac{\frac{1}{3}x + \frac{1}{3}}{x^2+1}$$

11 14-18:18

$$\int_0^1 \frac{x}{(x^2+1)^2} dx = \int_0^1 \frac{1}{(t+1)^2} \frac{dt}{2x} = \int_0^1 \frac{1}{(t+1)^2} dt =$$

$$\int_1^2 \frac{1}{s^2} ds =$$

$$= \left[-\frac{1}{s} \right]_1^2 = -\frac{1}{2} - \left(-\frac{1}{1}\right) = \frac{1}{2}$$

11 14-18:32

$$\int_0^1 (2^x + 3^x)^2 dx = \int_0^1 (2^{2x} + 2 \cdot 2^x \cdot 3^x + 3^{2x}) dx$$

$$= \int_0^1 2^{2x} dx + 2 \int_0^1 6^x dx + \int_0^1 3^{2x} dx$$

$$= \left[\frac{2^{2x}}{2 \cdot \ln 2} \right]_0^1 + 2 \left[\frac{6^x}{\ln 6} \right]_0^1 + \left[\frac{3^{2x}}{2 \cdot \ln 3} \right]_0^1 =$$

$$\frac{4}{2 \cdot \ln 2} - \frac{1}{2 \cdot \ln 2} + 2 \left(\frac{6}{\ln 6} - \frac{1}{\ln 6} \right) + \frac{9}{2 \cdot \ln 3} - \frac{1}{2 \cdot \ln 3}$$

$$= \frac{3}{2 \cdot \ln 2} + \frac{10}{\ln 6} + \frac{4}{\ln 3}$$

11 14-18:37

$$\int_1^{\sqrt{e}} \frac{1}{x \sqrt{1-x^2}} dx = \int_1^{\sqrt{e}} \frac{1}{x \sqrt{1-t^2}} x dt = \int_1^{\sqrt{e}} \frac{1}{\sqrt{1-t^2}} dt =$$

$$= \left[\arcsin t \right]_1^{\sqrt{e}} = \frac{\pi}{6}$$

11 14-18:41

$$\int_1^{\infty} \frac{1}{x} dx = \lim_{t \rightarrow \infty} \left[\ln x \right]_1^t = \lim_{t \rightarrow \infty} (\ln t - \ln 1) = \lim_{t \rightarrow \infty} \ln t = \infty$$

$$\int_1^{\infty} \frac{1}{x^2} dx = \lim_{t \rightarrow \infty} \left[-\frac{1}{x} \right]_1^t = \lim_{t \rightarrow \infty} \left(-\frac{1}{t} + \frac{1}{1} \right) = 1$$

$$\int_0^{\frac{\pi}{2}} \sin x dx = \left[-\cos x \right]_0^{\frac{\pi}{2}} = -\cos \frac{\pi}{2} + \cos 0 = 1$$

$$\int_0^{\frac{\pi}{2}} \cos x dx = \left[\sin x \right]_0^{\frac{\pi}{2}} = \sin \frac{\pi}{2} - \sin 0 = 1$$

$$\int_0^{\frac{\pi}{2}} \tan x dx = \left[-\ln |\cos x| \right]_0^{\frac{\pi}{2}} = \lim_{t \rightarrow \frac{\pi}{2}^-} (-\ln |\cos t|) = \infty$$

$$\int_0^{\frac{\pi}{2}} \cot x dx = \left[\ln |\sin x| \right]_0^{\frac{\pi}{2}} = \lim_{t \rightarrow 0^+} (\ln |\sin t|) = -\infty$$

11 14-18:46

$$\int_2^{\infty} \frac{1}{x^2} dx = \lim_{t \rightarrow \infty} \left(\int_2^t \frac{1}{x^2} dx \right)$$

$$= \lim_{t \rightarrow \infty} \left[-\frac{1}{x} \right]_2^t = \lim_{t \rightarrow \infty} \left(-\frac{1}{t} + \frac{1}{2} \right) = \frac{1}{2}$$

11 14-18:59

$$\int_{\sqrt{2}}^{\infty} \frac{1}{x^2+2} dx = \lim_{t \rightarrow \infty} \int_{\sqrt{2}}^t \frac{1}{x^2+2} dx =$$

$$\frac{1}{2} \lim_{t \rightarrow \infty} \int_{\sqrt{2}}^t \frac{1}{\left(\frac{x}{\sqrt{2}}\right)^2+1} dx = \frac{1}{2} \lim_{t \rightarrow \infty} \left[\arctan \frac{x}{\sqrt{2}} \right]_{\sqrt{2}}^t$$

$$= \frac{1}{2} \lim_{t \rightarrow \infty} \left(\arctan \frac{t}{\sqrt{2}} - \arctan 1 \right) =$$

$$= \frac{1}{2} \cdot \sqrt{2} \left(\frac{\pi}{2} - \arctan \sqrt{2} \right)$$

11 14-19:04

$$\int_1^{\infty} \frac{\arctan x}{x^2} dx = \lim_{t \rightarrow \infty} \int_1^t \frac{\arctan x}{x^2} dx =$$

$$\lim_{t \rightarrow \infty} \left(\left[-\frac{\arctan x}{x} + \int \frac{1}{x(x^2+1)} dx \right]_1^t \right)$$

$$= \lim_{t \rightarrow \infty} \left(-\frac{\arctan t}{t} + \frac{\pi}{4} + \int_1^t \frac{1}{x(x^2+1)} dx \right)$$

$$\frac{1}{x(x^2+1)} = \frac{A}{x} + \frac{Bx+C}{x^2+1} = \frac{A}{x} + \frac{Bx}{x^2+1} + \frac{C}{x^2+1}$$

$$1 = A(x^2+1) + Bx^2 + Cx = (A+B)x^2 + Cx + A$$

$$0 = A+B \Rightarrow B=-1$$

$$0 = C$$

$$1 = A \Rightarrow A=1$$

$$= \lim_{t \rightarrow \infty} \left(-\frac{\arctan t}{t} + \frac{\pi}{4} + \int_1^t \left(\frac{1}{x} - \frac{x}{x^2+1} \right) dx \right)$$

$$= \lim_{t \rightarrow \infty} \left(-\frac{\arctan t}{t} + \frac{\pi}{4} + \left[\ln x - \frac{1}{2} \ln |x^2+1| \right]_1^t \right)$$

$$= \frac{\pi}{4} - \lim_{t \rightarrow \infty} \frac{\arctan t}{t} + \lim_{t \rightarrow \infty} \left(\ln \frac{t}{\sqrt{t^2+1}} \right)$$

$$= \frac{\pi}{4} - \frac{\pi}{2} = -\frac{\pi}{4}$$

11 14-19:08

$$\int_{-\infty}^{\infty} \frac{1}{x^2-2x+5} dx =$$

$$\int_{-\infty}^0 \frac{1}{x^2-2x+5} dx + \int_0^{\infty} \frac{1}{x^2-2x+5} dx$$

$$I_2: \lim_{t \rightarrow \infty} \int_0^t \frac{1}{x^2-2x+5} dx =$$

$$\lim_{t \rightarrow \infty} \int_0^t \frac{1}{(x-1)^2+4} dx =$$

$$= \frac{1}{4} \lim_{t \rightarrow \infty} \int_0^t \frac{1}{\left(\frac{x-1}{2}\right)^2+1} dx$$

$$= \frac{1}{4} \lim_{t \rightarrow \infty} \left[2 \arctan \frac{x-1}{2} \right]_0^t$$

$$= \frac{1}{2} \lim_{t \rightarrow \infty} \left[\arctan \frac{t-1}{2} - \arctan \left(-\frac{1}{2}\right) \right]$$

$$= \frac{1}{2} \lim_{t \rightarrow \infty} \left[\arctan \frac{t-1}{2} + \arctan \frac{1}{2} \right]$$

$$= \frac{1}{2} \left(\frac{\pi}{2} + \arctan \frac{1}{2} \right)$$

11 14-19:23

$$\int_0^1 \frac{1}{\sqrt[5]{x^4}} dx = \lim_{t \rightarrow 0^+} \int_t^1 \frac{1}{\sqrt[5]{x^4}} dx$$

$$= \lim_{t \rightarrow 0^+} \int_t^1 x^{-\frac{4}{5}} dx =$$

$$= \lim_{t \rightarrow 0^+} \left[5 \sqrt[5]{x} \right]_t^1$$

$$= 5 \lim_{t \rightarrow 0^+} (1 - \sqrt[5]{t}) = 5$$

11 14-19:29

$$\int_{-1}^1 \frac{1}{\sqrt[3]{x^7}} dx$$
$$\int_{-1}^0 \frac{1}{\sqrt[3]{x^7}} dx + \int_0^1 \frac{1}{\sqrt[3]{x^7}} dx =$$
$$\lim_{t \rightarrow 0^-} \int_{-1}^t \frac{1}{\sqrt[3]{x^7}} dx + \lim_{t \rightarrow 0^+} \int_t^1 \frac{1}{\sqrt[3]{x^7}} dx$$

11 14-19:33